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SN DESED
M meld N2 JIHTE
el PO NSAMSHIHSR(RANSAILSEEIH) (Er9): &)
A -3 - SRA(ZH) - MRAY - BES Oll &+t JEN HwE2
DESTY 5,608,777 4,515,030 1,093,747
Holst NEST JIPPE 5,608,777 4,515,030 1,093,747
B NENESEIHSS(FADSALSESH) 5,608,777 4,515,030 1,093,747
O NENESHINSE 1,113, 162 645,000 468, 162
308 KXISHHISOIH 1,113, 162 645,000 468,162
(2 Frn==2 77,663 45,000 32,663
OBADENERL Al 2H4DL
2,508,747, 0002x3% 77,663 45,000 32,663
08 JlEr=E3 1,035,499 600,000 435,499
OZBADSAERYS 2L
2,588,747, 00021 %40% 1,035,499 600,000 435,499
FADSASSESI ot 4,495,615 3,870,030 625,585
801 0fibiIt] 4,495,615 3,870,030 625,585
ECTELE 4,4%.615 3,870,030 625,585

OZAUSANERESSE2/H il 4,495,615 3,870,030 625,585




SN E=CEE
B ZMAYS 0SS S4
SHol: SIAIE JIBIEA(BECYHS2YSEEH) (Sr9): 1)
SA - F . CR(BH) - HRAY - BES Ofl At pIE<Ll C[ImE==T]
S=TEE 9,942,934 9,878,416 64,518
JMEJUE= S =4 6,381,965 6,317,447 64,518
SIALRHA DI E&(S=ECEUHS2YSES) 5,009,335 4,951,417 57,918
FEEXIBIIESE 1,045,042 1,041,422 3,620
201 Ysr2gy] 890,872 867,352 3,520
02 Z323H| 549,552 546,032 3,520
OAlIZ &= XIY| 235,446 231,926 3,520
—22ts Y20l AIE=E =cl 3,520 0 3,520
204 XA 13,300 13,200 100
03 SEYRZHI 13,300 13,200 100
ooz sy 13,300 13,200 100
cherals stist 2 J1SoHA 3,812,647 3,758,349 54,298
401 Al&HIYLROHY| 3,413,340 3,363,340 50,000
01  Al&HI 3,364,655 3,314,655 50,000
O Olef2t EHed 2ots &X 50,000 0 50,000
801 OiltIH] 128,457 124,159 4,298
IRCIEL 128,457 124,159 4,298
ooliglyl 128,457 124,159 4,298
SA=A0l IKEHE TH(ESSTEHUSRISESS) 1,001,025 994,425 6,600
A 29 705,864 699,264 6,600
201 B2 651,764 645,164 6,600
02 Z=24H| 93,224 86,624 6,600
OAIE RIS 34,890 28,290 6,600
—stuMEE YR AlLS w2 6,600 0 6,600




